

Solution

Name: Sampson Joshua Chizwike
Dept: Medicine and Surgery
Matric no: 19/MHS01/394

~~$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$~~ (1)

① $\int \frac{11-3x}{x^2+2x-3} dx$

$\frac{11-3x}{(x+3)(x-1)} = \frac{A}{x+3} + \frac{B}{x-1}$ ~~10~~

$\frac{11-3x}{(x+3)(x-1)} = \frac{A(x-1) + B(x+3)}{(x+3)(x-1)}$

$11-3x = A(x-1) + B(x+3)$

$F(-3)$

$11-3(-3) = A((-3)-1)$

$20 = -4A$

$A = 5$

$F(1)$

$11-3(1) = B(1+3)$

$8 = 4B$

$B = 2$

~~Put sub A and B into (1)~~

$\therefore \int \frac{11-3x}{(x+3)(x-1)} dx = \int \frac{5}{x+3} dx + \int \frac{2}{x-1} dx$

$\int \frac{5}{x+3} dx$

let $u = x+3$

$\frac{du}{dx} = 1$

$\int \frac{2}{x-1} dx$

let $u = x-1$

$\frac{du}{dx} = 1$

Conf 1 ①

$$\frac{dx = du}{1} \quad dx = du$$

$$= \int \frac{-5}{u} \cdot \frac{du}{1} = \int \frac{-5}{u} \cdot \frac{du}{1}$$

$$= -5 \int \frac{du}{u} = -5 \int \frac{1}{u} \cdot du$$

$$= -5 \ln u = -5 \ln(x-1)$$

$$= -5 \ln(x-1)$$

$$\therefore \int \frac{11-3x}{x^2+2x-3} = 2 \ln(x-1) - 5 \ln(x+3)$$

3

$$\textcircled{3} \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

Solu

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$F(-1) \Rightarrow 2x^2 - 9x - 35 = A(x-2)(x+3)$$

$$\Rightarrow 2(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3)$$

$$\Rightarrow -24 = -6A$$

$$A = \frac{-24}{-6}$$

$$A = 4$$

$$F(2) \Rightarrow 2(2)^2 - 9(2) - 35 = B(2+1)(2+3)$$

$$\Rightarrow -45 = 15B$$

$$B = -3$$

$$F(-3) \Rightarrow 2(-3)^2 - 9(-3) - 35 = C(-3+1)(-3-2)$$

$$\Rightarrow 10 = 10C$$

$$\Rightarrow C = 1$$

cont'd (2)

$$\begin{aligned} \int \frac{-1}{u} \cdot \frac{du}{1} &= \int \frac{5}{u} \cdot \frac{du}{1} \\ -1 \int \frac{du}{u} &= 5 \int \frac{du}{u} \\ -1 \int \frac{1}{u} \cdot du &= 5 \int \frac{1}{u} \cdot du \\ = -1 \ln u &= 5 \ln u \\ = -1 \ln(x-3) &= 5 \ln(x+1) \end{aligned}$$

$$\int \frac{4x-11}{(x^2-2x-3)} = 5 \ln(x+1) - \ln(x-3)$$

(2)

$$\textcircled{2} \int \frac{4x-16}{(x^2-2x-3)}$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A}{(x-3)} + \frac{B}{(x+1)}$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

$$4x-16 = A(x+1) + B(x-3)$$

$$\begin{aligned} F(3) &\Rightarrow 4(3)-16 = A(3+1) \\ -4 &= 4A \\ A &= -1 \end{aligned}$$

$$\begin{aligned} F(-1) &\Rightarrow 4(-1)-16 = B(-1-3) \\ -20 &= -4B \\ B &= 5 \end{aligned}$$

~~Put A and B into (1)~~

$$\int \frac{4x-16}{(x-3)(x+1)} dx = \int \frac{-1}{(x-3)} dx + \int \frac{5}{(x+1)} dx$$

$$\int \frac{-1}{(x-3)} dx$$

$$\int \frac{5}{(x+1)} dx$$

$$\text{let } u = x-3$$

$$\frac{du}{dx} = 1$$

$$dx = \frac{du}{1}$$

$$dx = \frac{du}{1}$$

$$\text{let } u = x+1$$

$$\frac{du}{dx} = 1$$

$$dx = \frac{du}{1}$$

$$dx = \frac{du}{1}$$

Ex 6 cont'd (3)

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$\Rightarrow \int \frac{4}{x+1} dx \quad \int \frac{-3}{x-2} dx \quad \int \frac{1}{x+3} dx$$

let $u = x+1$	let $u = x-2$	let $u = x+3$
$\frac{du}{dx} = 1$	$\frac{du}{dx} = 1$	$\frac{du}{dx} = 1$
$dx = \frac{du}{1}$	$dx = \frac{du}{1}$	$dx = \frac{du}{1}$

$\int \frac{4}{u} \cdot \frac{du}{1}$	$\int \frac{-3}{u} \cdot \frac{du}{1}$	$\int \frac{1}{u} \cdot \frac{du}{1}$
---------------------------------------	--	---------------------------------------

$4 \int \frac{1}{u} \cdot du$	$-3 \int \frac{1}{u} \cdot du$	$1 \int \frac{1}{u} \cdot du$
-------------------------------	--------------------------------	-------------------------------

$4 \ln u$	$-3 \ln u$	$1 \ln u$
$= 4 \ln(x+1)$	$= -3 \ln(x-2)$	$= \ln(x+3)$

$$\therefore \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3)$$